
You have 3 Blue marbles and 2 Red marbles in a box, a total 5 marbles.

What is the ratio of blue marbles to total marbles?

What is the ratio of red marbles to total marbles?

What is the ratio of blue to red marbles?

Part to Part

Part to Total

݁ݑ݈ܤ ݁ݑ݈ܤܴ݀݁ ݁ݑ݈ܤ ܴ݁݀

݁ݑ݈ܤ 3 ∶ 2 ܴ݁݀

3: 2

݁ݑ݈ܤ ݁ݑ݈ܤܴ݀݁ ݁ݑ݈ܤ ܴ݁݀ ܴ݀݁݁ݑ݈ܤ ݁ݑ݈ܤ ܴ݀݁݁ݑ݈ܤ

݁ݑ݈ܤ ݁ݑ݈ܤܴ݀݁ ݁ݑ݈ܤ ܴ݁݀

݁ݑ݈ܤ ݁ݑ݈ܤܴ݀݁ ݁ݑ݈ܤ ܴ݁݀

What is the ratio of blue to red marbles?

2 ܴ݁݀ ∶ ݁ݑ݈ܤ 3

2: 3

݁ݑ݈ܤ ݁ݑ݈ܤ ݁ݑ݈ܤ

݁ݑ݈ܤ 3 ∶ ݈ܽݐ݋ܶ 5

3: 5

ܴ݁݀ ܴ݁݀

2 ܴ݁݀ ∶ ݈ܽݐ݋ܶ 5

2: 5

If a larger box has 9 Blue marbles in the same ratio as above how many Red marbles and Total 
marbles are in the box?

:݁ݑ݈ܤ 3 2 ܴ݁݀
:݁ݑ݈ܤ:9 ?ܴ݁݀× 3 × 3

2 × 3 = 6

ݏ݈ܾ݁ݎܽܯ ܴ݀݁ 6

݁ݑ݈ܤ 9 + 6 ܴ݁݀ =  ݏ݈ܾ݁ݎܽܯ 15

There are 15 
marbles in the 
larger box

If a larger box has 25 marbles in the same ratio as above how many Red marbles are in the box?

ܾ ∶ ݎ 
3 ∶ 2

ݎ ∶  ܾ ∶ ܶ
2 ∶  3 ∶ 5
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